Determine if each series below is convergent or divergent. Do NOT find the sum. SCORE: /16 PTS
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Consider the following statements. SCORE: /3 PTS

(i) If the terms of {a,} and {b,} are positive, and lim 22 0,and Zb is convergent, then Za” is convergent
n—%

n=1 n=|

(ii) If0<a,<b, and Za” is divergent, then Zb” is divergent

n=1 n=|

@ fed
(iii) Ifa, <b, and an is convergent, then Za" is convergent

n=1 n=1

Which of the statements above are true ? Circle the correct answer below, e

[a] none are true [b] only (i) is true [c] Q only (ii) is true ) [d] only (iii) is true

[e] only (i) and (ii) are true  [f] only (i) and (iii) are true  [g] only (ii) and (iii) are true [h] all are true




4] o
It is true that J- " cosmx dx converges. A student writes that this means that Ze_"" COSTN converges SCORE: /2 PTS

n=1

according to the integral test. [s the student s reasoning correct 7 Why or why not ?
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Determine if Z E is convergent or divergent, without using the comparison and limit comparison tests. SCORE: /9 PTS
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